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2. The acceleration due to gravity {s ~32 ft/sec?. If an object is shot upward
with an initial velocity of 128 fi/sec., how high does it go? (10}
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3. Find the equation of the straight line which is tangent to th& urve
%% + 4% = 3 at the point {-1,2). (10}
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Sketch the graph of f{x) = 4%% - 3x%, and find {18}
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a. coordinates (if any) of critical points
b. coordinates (if any) of points of inflection
¢. intervals(s) for which the graph is concavedown.
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A semi-circular oil spill is spreading {rom an oil tanker beached on the coast
of Spain, When the oil slick has spread 10 miles out, it is observed to be
spreading at the rate of 2 miles per day. Al what rate is the ares of the oil
spill changing? Exira credit; At what rate is the oil leaking from the tanker?

{Suppose that 100 barrels of oil will cover one square mile.} (10}
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Find the srea between the curves y = 2x¥ - x? and y = x%, (10} .
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A cylindrical box with open top is to hold 4 %, The circuiar bottom will be
cut from a square piece, the rest will be waste, and the side is a r@”ta%}ﬂlar
plece rolled up. What dimensions will use the least amount of total material.
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tet the function { be given by (22}
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d. Sketch the graph of {. include zeros, asymptotes, critical points.
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10. Find the following integrals: {20)
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11. Find the volume of the solid generated by revolving aboul the n-axis the region “{ ig’” g
bounded by y = x? - xand y = 0. (o) —
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12. The function g is defined by
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. what is g{4)? (& =
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what is lim glx} 7 2
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Is g continuous at 47 Justify!

. Using only the DEFinition, find g'(4).
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IT it doesn't exist, sag $0.
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